4th Grade CCSS Math Word Search Puzzle 31

1. First, write the correct clue number to the left of each word in the Word Bank. Then, circle the
words that have been hidden vertically, horizontally, and diagonally.
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1. A whole number greater than 0 that has 8. A customary unit of capacity equal to 2 pints or

exactly two different factors, 1 and itself. 4 cups.

A two-dimensional figure. 9. The answer to a division problem.

Two intersecting lines that form right angles. 10. A tool used to measure and draw angles.

The distance around the outside of figure. 11. The value of a digit depending on its place in a

A customary unit of weight equal to 16 ounces. number.
A customary unit of capacity equal to 2 cups. 12. The answer to a multiplication problem.
The exact location in space represent by a dot.
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quotient pint perimeter
plane figure place value quart
perpendicular lines prime number product
protractor point pound
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